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BHQ/M-20 16100
OPTIMIZATION

Paper–BM-364
Option–(i)

40 (B.Sc.(H);Time : Three Hours] [Maximum Marks :
27 (B.A.(H)

Note : Attempt five questions in all, selecting one question from

each section. Question No. 1 is compulsory.

COMPULSORY QUESTION

1. (i) What do you mean by discrete random variable? Give

example. (2)

(ii) Define feasible solution. Give example. (2)

(iii) What do you mean by concave function? (1)

(iv) Define slack variable. (1)

(v) What do you mean by Assignment problems? (2)

(i)

(ii)
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(iii)

(iv)

(v)

SECTION–I

( –I )

2. Show that the entropy of the following probability distribution is
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3. State and prove the law of large numbers. (8)
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SECTION–II

( –II)

4. Solve the following LPP using graphical method :

Minimize Z = 3X + 2Y

Subject to

5X + Y  10

X + Y   6

X + 4Y   12

X, Y   0. (8)

Z = 3X + 2Y

5X + Y  10

X + Y   6

X + 4Y   12

X, Y   0

5. What is linear programming? What are its major assumptions and

limitations? (8)
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SECTION–III

( –III)

6. Solve the following LPP using Simplex method : (8)
Maximize Z = 4X + 3Y
Subject to
2X + Y  1000
X + Y  800
X  400
Y  700
X, Y  0

Z = 4X + 3Y

2X + Y  1000
X + Y  800
X  400
Y  700
X, Y  0

7. For any points X, Y  Rn, show that the line segment [X : Y]

is a convex set. (8)

X, Y  Rn

[X : Y]
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SECTION–IV

( –IV)

8. Solve the following LPP using two-phase simplex method :

Minimize Z = X + Y

Subject to

2X + Y  4

X + 7Y  7

X, Y  0. (8)

Z = X + Y

2X + Y  4

X + 7Y  7

X, Y  0.

9. Explain the following method for obtaining an initial basic feasible

solution of a transportation problem :

(i) North-west corner method, (ii) Least-cost method, (iii) Vogel’s

approximation method. (3+2+3)

(i) (ii) (iii)
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